
Serial No.4323 - 
Checked By:

     Tech
     Date

Box 1 - 1834C Display Wt:  25 lbs.  Dim:  19" x 14" x 14"
Part No. Description Quantity Yes Remarks

1 RDP149 10.4" Navnet VX2 Display 1 navionics configuration
2 100-323-600 White Plastic Facia Cover 1
3 008-524-700 Mounting Bracket 1
4 008-523-650 Mounting Knob 2
5 000-144-471 RMC100 Remote 1 sub 000-089-885
6 100-292-801 Vinyl Case 1 "
7 000-142-527 AA Battery 2 "
8 100-292-790 Label 03-153-1314-0 1 "
9 100-292-820 Label 03-153-1315-0 1 "
10 100-292-830 Label 03-153-1316-0 1 "
11 100-292-840 Label 03-153-1317-0 1 "
12 000-549-013 Fuse FGBO 7A 3 sub SP03-14001
13 000-549-014 Fuse FGBO 15A 3 "
14 100-292-140 3A, 5A, 7A Fuse Label 1 sub CP03-22701
15 100-292-770 Cutout Template Sheet 1 "
16 100-323-900 Flush Mount Sponge Gasket 1 "
17 000-802-081 Tapping Screw M5 x 20 4 "
18 000-804-742 Washerhead Screw M4 x 20 6 "
19 000-809-171 Nylon Cable Tie 120MM 1 "
20 OSE-354-30Z Operator's Guide 1
21 IME-354-30Z Installation Manual 1
22 OME-354-30Z Operator's Manual 1
23 000-154-025 3P Power Cable 1

Box 2 - Radome Wt:  25 lbs.  Dim:  28" x 27" x 14"
Part No. Description Quantity Yes Remarks

1 RSB0071-057 24" Radome with RTR057  X'CVR 1 navnet ready
2 000-862-308 Hex Bolt M10 x 25 4 Sub 008-478-750
3 000-864-131 Flat Washer M10 4 "
4 000-864-261 Spring Washer M10 4 "
5 000-144-673 Torroid Core 1 "

Box 3 - Cable Wt:  10 lbs.  Dim:  16" x 17" x 5"
Part No. Description Quantity Yes Remarks

1 000-138-970 15M IC Cable with Connectors 1 10, 20, 30M available

For Internal Use Only

RSB0071-057

000-138-970

PACKING LIST FOR 1834C

RDP149

9/7/2007 Page 1 of 1


